3
> eq = X(1) =piecewise[xl[r) < 36,1536 <x(f), 15+ 2-(\,’ x(t) — 6] . ]

2 15 x(r) < 36
eq = dq x(t) = 503
dr 15+2(J=(1) —6) 36 < (1)
& ODE Analyzer Assistant *
Differential Equations Conditions Parameters
1.5 x(f) <36 x(0)=0
& . x'(0)=0
@ g
1542 (=) -6) " 36=x(t)
Edit Edit.. Edit

| Solve Mumerically || Solve Symbolically || Classify

Runge-Kutta-Fehlberg 4-5th order

Qutput Cutput
Show function values at t = Show function values at t =
8.1385 8.1335
x = 50.0040461635562 x = 50.0040461635562
x' = 13.2080743080958 x' = 13.2080743080958
801 251
701
60 2071
v 307 Doty 157
401
30 103
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Output
Show function values at t =
8,135
x = 50.0040461635562
x' = 13.2080743080958
3.51
3_
2.5
2-
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